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I ymwn: duration of nkm for an indeterminate birth event
a  If: she doesn’t know if it was male or female — must “sit” for both (14 days of nkm, then 26 11V ")
b If: she doesn’t know if it was a 79n at all, must “sit” for both as well as for nm (no 1Mo )
II  Assessing issue of a1
a 577 if a (pregnant) woman walks through river and miscarries — we assume it to be 79 (per 111) and she has 1% ' (M/F)
i Challenge: our mwn — why not follow 117 and erase possibility of nm?
1 Answer: 9"17’s case is where she was already known to be pregnant; not so in our mwn
ii  Challenge: if a nnn1 was pregnant, then returned (w/o birth blood) no longer pregnant, next offspring is 7121 pao
1 Explanation: we see that we do not follow 11 (which would confirm that first was a 1131 and this is VYv4)
2 Answer (8237): we have 111 of mnna that birth something that exempts (the next one) and minority that don’t
(a) And: this one, having no birth-blood (which all babies have) hurts the 211
(b) Challenge: if all births have 910, the next one should be a certain 1133, not pav
3 Rather: am of births have 911y, this one, having no 919, hurts the original 217
iii ~ Challenge: n"am reported that 5"2»7’s dictum was challenged from the rule of ny10 — but he didn’t understand the xnavn
1  Case: woman leaves pregnant, comes back “empty” & has 3 wks. w/ no o7, then 10 wks. alternating 07 and no o7
(a) A5va5 i she may only have relations on the eve of day #35 since her return (i.e. end of week #5)
(i) Understood: why she can’t have nk»a during 1%t week (might have just had boy), 2"? week (might have just
had girl) and 3" week (might have had girl 2112 3 weeks earlier)
1. But: why can’t she have relations during 4 week (certainly during 9mv ' for boy or girl)
a. Doesn't this: prove that we do not follow 211? (which is why this was the challenge to 9”17)
b.  Rejection: perhaps she may have had the baby a while back and is already past 1mv >
2. And: day #28 may already be nm) n>nn and she may have to have 7 days (w/o wnwn)
3. But: day #21 should be 9mn in any case — if she is 210 during day (as nar pao)
a.  Answer: follows w™, who disallows nar nk»a on 7" day (oy n»av); if she sees — n72 pav
b.  Challenge: let her have wnwn that night
i.  Answer: case in Rn»1 is where she saw at beginning of evening
(b) w©”7x she goes to npn 95 times
(i) 1 week: every night — may be 731 n19v (and each night may be end of 7) — sum: 7
(if) 2" week: every night and every day
1. Every day: may be 2112 15191 (each day may be end of 14) sum: 14
2. Every night: may be nap1 n19y (may be end of 14) sum: 21
(iii) 3" week: every night and every day
1. Every day: may be 2112 n19v (each day may be end of 21) sum: 28
2. Every night: w"a follow their own approach — she is 9% D1 n%2v (may be at end of 33 or 66) — 35
(iv) Next 59: nights (66 9mv '’ minus 7 already done in 3" week) sum: 94
(v) Last one: if she arrived mwnwn pa — gets one extra n%av
(c) 777x she goes to nMpn 35 times
(i) Premise: n"a do not hold that a 78 DY n%120 goes to Mpn (dno need at end of 1MV ")
1. 28: as stated above (possibility of 95t N9, 2112 751, N2p) and 212 NP1 — but no evenings in 3 week)
2. 7:in week #5, each night may be end of nm
(d) A7m7 93 207 "1 no reason for nYav except at end (he holds that mxn nrr Ninra n»av)
(e) Analysis: why the need for 10 weeks (mnv/8nv), 8.5 would be enough (to get us to 80 days)
(i) Answer: Rin didn’t want to use 2 weeks; and in order to retain symmetry (11n10/8nv), used 10 weeks
(ii) Challenge (to 773): why not add nar m%av at end of 7" week?
1. Answer: only considering m%av to enable vwnwn, not for completing period
(iii) Challenge (to ©”3): they consider wnwn INRY n»2v — why not count this one?
1. Answer: they’re only addressing n79v (or 2112 n79v) but not na’r (alone)
(iv) Challenge (to all): why not have her go to mpn during day of first week — perhaps her n»p1 't are done
1. Answer: follows »”1 — v are only in our presence (i.e. she arrived with no information)
(V) question; why not go on last day of that week (4; only discussing full weeks)
(vi) question: why not go on 1¢t day of 1% week — may be 0y mmw (a: only discussing n%1m nar)
(vii) conclusion: Xna follows y™), and w™ (M1 against NX»a on day #7) and nyT that nixn mnra n»av
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